
長さを計算しましょう。

＋ 3ｃｍ ＝

2mm ＋ 6mm ＝

5ｃｍ

2cm4mｍ ＋ 4ｃｍ ＝

4cm5mｍ ＋ 3mｍ ＝

6cm ＋ 9mｍ ＝

6ｃｍ － 4cｍ ＝

8mｍ － 3mｍ ＝

7ｃｍ9mm － 2cm8mｍ ＝

1cm　＝　10mm

5cm６mｍ － 4mm ＝

6ｃｍ7mm － 3cm6mｍ ＝

連番

タイトル＋連番

サブ＋Lv

タイトル

サブタイトル

学年

長 さ（2）小2
やさしい

1

2

3

4

5

6

7

8

9

10



長さを計算して答えましょう。

5cm６mｍ － 4mm ＝

6ｃｍ7mm － 3cm6mｍ ＝

2cm4mｍ ＋ 4ｃｍ ＝

4cm5mｍ ＋ 3mｍ ＝

5ｃｍ ＋ 3ｃｍ ＝

2mm ＋ 6mm ＝

6cm ＋ 9mｍ ＝

6ｃｍ － 4cｍ ＝

8mｍ － 3mｍ ＝

7ｃｍ9mm － 2cm8mｍ ＝

8cm

8mm

6cm4mm

4cm8mm

6cm9mm

2cm

5mm

5cm1mm

5cm2mm

3cm1mm

こ た え小2 長 さ（2）
やさしい

1

2

3

4

5

6

7

8

9

10


